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Preface

Dear govt. job aspirants,

Thisis an age of cut-throat competition and in order to win this race, you have to make
sure that your preparation level is a cut above the rest. Considering the sheer
magnitude of the aspirants who apply for government jobs, one has to make sure that
one takes guidance from the best of the materials available.

We have always strived to provide you with the best study materials to make your
dream of a government job a reality. This book for competitive exams Test series also
follows the same lineage. The CPO Prectice King will help you understand the
pattern of the exam and will help in taking your preparation level up by a notch. With
detailed solutions set bilingually, we have made sure that this book is easily
comprehensible for students of all levels.

To make sure you get a perfect companion for your preparation, we have put in much
effort to make sure that this book is completely error-free. Regular revision with this
book as a guide will surely help you gain the edge you need, the winning edge.

I earnestly thank the "Champion Publication team" who worked tirelessly to
ensure the quality of the book, and also helped us detect all the typographical and
other errors that might have crept in, if not for their keen overview.

Striving to serve the student community and to impart quality education.

Champion Publication
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Number System

NUMBER SYSTEM ( €& Ugid )

)<

<( SSC CPO 2018 ,ﬁ>>

SSC CPO Tier-I (2018)
{12/03/2019} All Shifts
If the six digit number 4x4y96
is divisible by 88, then what will
be the value of (x + 2y)?
Ifs B8 Il HI T&A 4x4y96, 88 ¥
fausa 2, @ (x + 2y) H1 AE FA1 B2
(@11 (b) 12
(c) 13 (d) 10
What is the sum of digits of the
least number. Which when
divided by 15, 18 and 24 leaves
the remainder 8 in each case and
is also divisible by 13?
TIY B FEA F AR H AN A T
5@ 15, 18 3R 24 ¥ fawfsa fean
STl © gk fefq § 8 9w wa €
IR g 13 ¥ o fausa eidt 22
(@) 18 (b) 16
() 15 (d) 17
If the seven digit number
74x29y6 is divisible by 72, then
what will be the value of (2x +
3y)?
Ifg I SRl H TSN 74x29y6 H
72 @ faufem ffan < 2, @ (2x +
3y) &1 HE F FAM?
(@) 16 (b) 20
(c) 19 (d) 21

SSC CPO Tier-I (2018)
{13/03/2019} All Shifts
If the seven digit number
56x34y4 is divisible by 72, then
what is the least value of (x + y)?
IfE | ARl T H&N 56x34y4, 72
T fauasa €, @ (x + y) w1 FH T4
1 82
()8 (b) 12
() 5 (d) 14
What is the sum of the digits of
the least number, which when
divided by 15 and 27 leaves the
same remainder 9 in each case
and is also completely divisible
by 11?
T SIS & % SAhl BT AT L, S
15 3R 27 ¥ fawfs@ 89 ® yo®
el ¥ TUE 99 9 Big 341 § SN 11
% 0 e 9 faasa 22
(a) 20 (b) 17
(c) 18 (d) 19

I\ Gagan Pratap Sir

6.

10.

If the seven digit number
3x6349y is divisible by 88, then
what will be the value of (2x +
3y)?

g | el ot W& 3x6349y, 88 ¥
faura 7, @ (2x + 3y) 1 HH F4 BM?
(a) 28 (b) 30

(c) 32 (d) 35

What is the sum of digits of the
least number, which when
divided by 15, 18 and 42 leaves
the same remainder 8 in each
case and is also divisible by 13?
B W SIS FEAT % bl BT AN T,
St 15, 18 3R 42 ¥ fawfsa g ®
TS HHA H §9F I 8 991 € SR

13 ¥ favsa «f 22
() 24 (b) 26
(c) 25 (d) 22

SSC CPO Tier-1I (2018)
{14/03/2019} All Shifts
Which of the following statement
is true?
frefafed & @ #9 @1 wuF 9 72
(a) Two prime numbers are co-

prime numbers if their LCM
is1./3q A9 FEAT, HE-AIA
TeAe g, afe e LCM 1 21
(b) LCM of two natural numbers
is divisible by their HCF.
T Wipfaw Gemstt & LCM 39
HCF gr fawrs 21
(c) HCF + LCM of two numbers
= Product of the two

numbers/ & F&A=T &1 HCF +
LCM = T Heaeit &1 0w
(d)HCF of two number is the

smallest common divisor of
both numbers
T Hemsti &1 HCF Il demst &1
ol BiE SHARTS W §
The number 23474 is exactly
divisible by:
e 23474 qofd: faaa 2
(@) 2 and 11 only/2 IR 119
(b)2 and 3 only/2 3R 3 ¥
(c) 2 and 4 only/2 IR 4 9
(d) 2 only/%aa 2
To what power -3 should be
raised to get —21877?
~3 1 = H —2187 W HH & eIy
ferae e 922
(@) -5
()7

(b) =7
(d) S

>

11.

12.

13.

14.

15.

The sum of all possible three
digit numbers formed by digits
3, 0 and 7 using each digit only
once is:

3,0 3R 7 % g7 wfsq |fi dwa o
SRl T TN, Tk 3k ol ST had

T aR Bl B:
(a) 2010 (b) 2220
(c) 1990 (d) 2110

The number 30744 is divisible

by which of the single digit

numbers:

Hem 30744 f= 9 9 fFm &% il

HI " 9 faass ?:

(a) Only by 2, 3, 6 and 9/%aa 2,
3,631 9

(b) All numbers except 5 and 7/
5 3R 7 Sigak o qeft wed

(c) All numbers except 5/5 @t
BIgH 3 Tft HeAd

(d) Only by 2, 3 and 6/%aa 2, 3
R 6

What is the difference between

the greatest four digit and the

smallest four digit number using

the digits 2, 9, 6 and 5 (each digit

can be used only once)?

% 2,9, 6 I 5 H ST T o

TEAISH 1 AR &2 (T 3k o

T & 9% TG e Gehdl €)1

(a) 7083 (b) 6993

(c) 6606 (d) 7056

SSC CPO Tier-I (2018)

{15/03/2019} All Shifts

The number 66249 is divisible

by which of the single digit

numbers:

T 66249 69 THa e e 4

faasa 2:

(a) Only by 3 and 9/%da 3 3R 9

(b) Only by 3 and 7 /%4 3 3R 7

(c) Only by 9/%aa 9

(d) Only by 3/%aa 3

The least number that should be

added to 10000 so that it is

exactly divisible by 327 is:

B ¥ B @A w1 10000 F WS

S =nfeT difer W 327 g faesgd

faasa =i

(a) 327

(c) 137

(b) 237
(d) 190

CHAéplnNPUBLICATIDN



16.

17.

18.

19.

20.

21.

22.

The number 106974 is divisible
by which of the single digit
numbers:

& 106974 f¥ Toha ikl 1 de
% ER faus 2:

(@) 2, 3, 6 and 7 only

(b)2, 3 and 7 only

(c) 2, 3 and 4 only

(d)2 and 3 only

The face value of the digit 6 in
16008 is:

16008 § 3% 6 1 ST oo B:
(@) 6 (b) 600

(c) 6000 (d) 60

The greatest number of 5 digits
that is exactly divisible by each
of 8, 12, 15 and is:

5 i i g ¥l & S 8, 12,

159 9§ va% 9 faugsa 21
(2) 99950  (b) 99940
(c) 99980  (d) 99960

The smallest number that
should be added to 8212 to
obtain a perfect square is:
T T w # T e
Hem 59 8212 # gl W =ifeu:
(@) 123 (b) 69
(c) 54 (d)112

SSC CPO Tier-I (2018)
{16/03/2019} All Shifts
On dividing a number by 38, the
quotient is 24 and the remainder
is 13, the number is:
forelt = w1 38 9 fawfsa & W,
TR 24 ® @R 99 13 B, "Ew ®:
(a) 956 (b) 904
(c) 925 (d) 975
The students of a class donated
33,481 towards relief fund. Each
student donated an amount
equal to the number of students
in the class. The number of
students in the class is:

Teh H&l & BE 1 T8d H¥ & fag
%3,481 T fwul Y% B 4 wem §
B ! T & SR TR IF hi| HeT

¥ Bl # e o
(a) 49 (b) 59
() 61 (d) 51

The number 45789 is divisible
by which of the single digit
numbers:

T 45789 Uhal Sfhi ol H&A &
AMUR R faame 2:

(@) Only by 9

(b) Only by 3 and 9

(c) Only by 3

(d) Only by 3 and 7

I\ Gagan Pratap Sir

23.

24.

25.

26.

27.

The largest number of four digits
that is exactly divisible by 15,
21 and 30 is:

TR 3Tl *! T a5t Hem = 15, 21
3R 30 @ gofd: faams 2:

(a) 9840 (b) 9910

(c) 9830 (d) 9870

210102 can be divided exactly
by:

210102 & 7o &9 ¥ g fawfsa
o S w2

(@) 7 (b) 3

(c) 4 (d) 8

A gardener planted 1936
saplings in a garden such that
there were as many rows of
saplings as the columns. The
number of rows planted is:

T A 7 TH T H 1936 U 3w
TR T T S0 Tl & 9o g ae
¥ =t e o1 Afva dfear = wern @
()46 (b) 44

(c) 48 (d) 42

Which least number should be
added to 1000 so that the
number obtained is exactly
divisible by 37?

#H # H&n #1000 ® Sregr S

=few @ifer e e 37 9 faega fawsa
72

(@) 1 (b) 25

(c) 36 (d) 13

When the integer n is divided by
7, the remainder is 3. What is
the remainder if 5n is divided by
7?

59 YUk n & 7 9 fawifem fean s
g, @ YW 3T 2 AR SnH 7 W
oo feran ST @t Siowe = @2

(@) 0 (b) 3

(c) 2 (d1

<( SSC CPO 2019 Tieﬂif»

28.

SSC CPO Tier-I (2019)
{09/Dec/2019} All Shifts
Which is the largest six digit
number. which when divided by
12, 15, 20, 24 and 30, leaves the
remainders 8, 11, 16, 20 and 26
respectively.

TE Hh Il T S W T @A hiA-H
7, f® 12, 15, 20, 24 3k 30 ¥
faqtsa w3 R 9w wEE: 8, 11,
16, 20 ¥R 26 =@l €l

(a) 999956 (b) 999960

(c) 999964 (d) 999982

O

29.

30.

31.

32.

33.

Number System
If the six-digit number 479xyz
is exactly divisible by 7, 11 and
13, then {(y + 2) + ¢ is equal to:
Te-3Ahl At g 479xyz I 7,
11 3R 13 § qofa: fausa 7, @
{(y+2) = ¢ &1 9 TR &

11 b
(@) 5 (b) 4
13 7
() 7 (d) 13

If the 7-digit number x468y05
is divisible by 11, then what is
the value of (x + y)?

I 7 Tl A TH H&AN x468y05,
119 faumsg 2, @t (x + y) F1 99 9
B2

(@) 8 (b) 10

(c) 14 (d) 12

Let x be the least 4-digit number
which when divided by 2, 3, 4,
5, 6 and 7 leaves a remainder of
1 in each case. If x lies between
2800 and 3000, the what is the
sum of the digits of x?

TH ST x 98 4-3i%F B 9 B
e 7, 59 2,3,4,5,6,3R 79
famfsd 0 W y&® IR IUEA 1
T €1 9k x 1 7H 2800 3R 3000
% HH B, A xH ! H ATHA 1 22
(@) 15 (b) 16

(c) 12 (d) 13

When 2388, 4309 and 8151 are
divided by a certain by a certain
3-digit number, the remainder

in each is the same. The
remainder is:

9 2388, 4309 3R 8151 @i dF
Sohl et Wb THfy=d g 9 fawfsa
foran ST ®, 9 IS 9 HEH uEd
Tl €1 kel 1 e
(a) 39 (b) 23
(c) 19 (d) 15

SSC CPO Tier-I (2019)
{11/Dec/2019} All Shifts

How many natural numbers less
than 1000 are divisible by 5 or
7 but NOT by 35?

1000 ¥ ¥ feha-t Trehfde Head 5 a1
7 4 fauma &, afed 35 @ &2

(a) 285 (b) 313

(c) 341 (d) 243

CHA&PIQNPUBLICATIDN



34.

35.

36.

37.

38.

Let x be the least number of 4 39. Let xbe the least number

digits that when divided by (2, 3,
4,5, 6 and 7 leaves a remainder
of 1 in each case. If xlies between
2000 and 2500, then what is the
sum of the digits of x?

T ofifsl x, TR 3T &l B 9 Bl
gem & 9 2,3,4,5, 63 79
famfSta & R de aR ok 1 s
1 3 x 1 7 2000 R 2500 & ==
 feora €, a1 x o ARl 1 AN T IS
(@9 (b) 15

(c) 10 (d) 4

Let x be the least number
divisible by 16, 24,30, 36 and
45, and x is also a perfect
square. What is the remainder
when x is divided by 123?

M AT x o8 S | B gE €, S
16, 24, 30, 36 3 45 ¥ faasa 7,
T x TF i o ft ¥ @ xH 123
fawifsa ferean STar € @t Siowher ferae

ECGI Y
(a) 100 (b) 40
(c) 103 (d) 33

When a certain number is
divided by 65, the remainder is
56. When the same number is
divided by 13, the remainder is
x. What is the value of \/5x-27?
W Th ffdEa wen & 65 fawftsa
fran =@ ®, @ Fu%e 56 9 el 2l
H e i 99 13 § fawfea foan

ST 7, Al SIhe x W 2l 21 /5 — 2
1 HA T 2?2

@) 247 (b) V13
(©) 242 (d) 3v2

SSC CPO Tier-I (2019)
{12/Dec/2019} All Shifts
When 3738, 5659 and 9501 are
divided by the greatest possible
number x, the remainder in each
case is y. What is the sum of x
and y?

& 3738, 5659 3K 9501 w1 &€l 9
oS wufaa den x @ fawfie fm
STl €, @ Wedsh SR 9 y Sl 81 x

3R y 1 FNTHS 1 HifeT)
(a) 3738 (b) 3783
(c) 3673 (d) 3637

If the 5-digit number 538xy is
divisible by 3,7 and 11, then the
value of (32 + ¢?) is:

afg 5 ofl arelt de&n 538xy, 3, 7
R 11 9 gufa: fauasa €, @ (@ + )
1AM A SIS

(@) 10 (b) 17

(c) 25 (d) 13

I\ Gagan Pratap Sir

40.

41.

42,

43.

divisible by 13, such that when
x is divided by 4,5,6,7,8 and 12,
the remainder in each case is 2.
The sum of the digits of xis:

A AT x 98 B Hem B, s 13 9
wofa: faura B, oifed af€ x &1 4, 5,
6,7, 8 3R 12 ¥ T feran S @
T 9R AUE 2 9l 21 x B ARl

T AT TG i
(@) 11 (b) 8
(c) 9 (d) 10

Which of the following is exactly

divisible by 6?

frefafea & 9 % @ gem 6 9 gola:

faumfom 2

(a) 5643252 (b) 96543111

(c) 465466 (d) 4325672

SSC CPO Tier-I (2019)

{13/Dec/2019} All Shifts

How many natural numbers up

to 2001 are divisible by 3 or 4

but NOT by 5?

2001 T fhat gspfas FEad 3 =1 4

g faum ¥ dfea 59 72

(a) 768 (b) 801

(c) 934 (d) 1067

The number 1563241234351 is:

H&T 1563241234351

(a) divisible by both 3 and 11
3 3R 11 <M 9 fauma @

(b) divisible by 11 but not by 3
11 9 fauma € afed 3 9 &

(c) divisible by 3 but not by 11
3 § fawra € ofd 11 9 &

(d) neither divisible by 3 nor by
11/ 9 3 9 fawsa 8 i 7 &
114

Let x be the least number which

when divided by 8, 9, 12, 14 and

36 leaves a remainder of 4 in each

case, but x is divisible by 11. The

sum of the digits of x is .

IH AT x o8 S @ B g ¢ o

8,9, 12, 14 &R 36 ¥ fawfs w1

T YA 9) I 4 w6 ©, e x, 11

Y faumg B x & 3fhi 1 I T 72

(@) 9 (b) 4

(c) 6 (d) 5

<( SSC CPO 2020 ,E,)>

44,

SSC CPO Tier-1I (2020)
{23/11/2020} All Shifts
If a nine-digit number
785x3678y is divisible by 72.
then the value of (x-y) is:
gt Al aelt e 785x3678y,
72 @ fausa ?, @ (x-y) 1 HE @ R
(a) -1 (b) O
(c) 2 (d) -2

&

45.

46.

47.

48.

49.

50.

51.

Number System
What is the least number which
when divided by 15, 18 and 36
leaves the same remainder 9 in
each case and is divisible by 11?
IE B W B FEA T4 B, 9 15,
18 3Rk 36 ¥ fauifem W W y&®
feofa & O 9vhel W B, SR T 119

faasa =l
(@) 1071 (b) 1089
(c) 1080 (d) 1269

If 14331433 x 1422 x 1425 is
divided by 12, then what is the
remainder?

Ik 14331433 x 1422 x 1425 @l
12 ¥ fawfa fopen s 2, & o 9oehet

RIcicay

()8 (b) 3

(c)9 (d) 6

The remainder when

75%x73%x78%x76 is divided by 34
is: 75 x 73 x 78 x 76 &l 34 ¥®

fofr 0 W SHe F[ A
(@) 15 (b) 22
(c) 18 (d) 12

The least number which is
exactly divisible by 5, 6, 8, 10
and 12 is:
9T B ¥ BRI @A A1G K, S 5, 6,
8,10 3R 124 qufa: fausa 2l
(a) 120 (b) 150
(c) 240 (d) 180

SSC CPO Tier-I (2020)
{24/11/2020} All Shifts
The students of a class donated
a sum of 2,809 to the Fund. Each
student donated as many rupees
as the number of students in the
class. The number of students in
the class is:
T henl & fomnelf T2,809 =1 Af¥T IH
Fd T 9 gede ferenedf 4 Sa9 € v
T Ty, fSIa=) e o fomnfSei <t gemn
2, @ wan | fornfdel =t Sem 9 w1
(a) 53 (b) 47
(c) 51 (d) 49
If six-digit number 5x2y6z is
divisible by 7, 11 and 13. then
the value of (x-y+32) is:
Ifg BT FHl aE T 5x2y6z; 7,
11 @R 13 9 fauama 8, (x-y+32) #
HH @ H
(@9 (b) 7
(c) 4 (d) 0
The remainder when 72 X 73 x
78 x 76 is divided by 35 is:
72 x 73 x 78 x 76 &l 35 W fawfea

HE W IS AIEA A1 B
(a) 15 (b) 8
(c) 22 (d) 12

CHA&PIQNPUBLICATIDN



52.

53.

54.

55.

56.

The least number which is
exactly divisible by 4, 5, 8, 10
and 12 is:

98 B 9 B W& A H, S 4, 5,
8, 10 3k 12 yuia: faums 2

(a) 180 (b) 240

(c) 150 (d) 120

How many numbers between
400 and 700 are divisible by 5,
6 and 7?

400 R 700 % <= W fhat dEam
g, S 5,6 3R 79 faysa &2

(a) 20 (b) 10

(c) 2 (d) S

When a number is successively
divided by 3, 4 and 7, the
remainders obtained are 2, 3
and 5, respectively. What will be
the remainder when 84 divides
the same number?

e ferdlt Hem i wE: 3, 4 3R 7 "
s feoman ST 8, 1 swst: 2, 3 3R 5
IIhel W il €1 ST SOt TEA il 84 9

Tawfera fman SE a1 9 9w A i
(@) 71 (b) 30
(c) 48 (d) 53

SSC CPO Tier-I (2020)
{25/11/2020} All Shifts
What is the sum of the digits of
the least number which when
divided by 15, 18 and 36 leaves
the same remainder 9 in each

case and is divisible by 11?

3G IS W DI G & 3kl BT FT =
g, f8 15, 18 @ik 36 9 fawifsa
FE W gIF feorfa § 9 9y =9, 3R 9%

11 9 fa9r= =82
(@) 17 (b) 16
(c) 15 (d) 18

How many numbers between
300 and 700 are divisible by 5,
6 and 8?

300 3R 700 & < Tt oot e
2, S 5, 6 3R 8 ¥ fawmy &7

(a) 20 (b) 5

(c) 2 (d)3

<< SSC CPO 2022 ;{>>

57.

Find the sum of the number
between 550 and 700 such that
when they are divided by 12, 16
and 24, leave remainder?

550 3R 700 & &= @1 37 Gt
# A FE@ HieE, R 12, 16 R
24 9 fawifsd 1 W g feafq o
IURA 5 U B

I\ Gagan Pratap Sir

58.

59.

60.

61.

62.

63.

(a) 1980 (b) 1887
(c) 1860 (d) 1867
If the 9-digit number 72x8431y4
is divisible by 36, what is the

£ _Y
value of Yy x for the smallest

possible value of y, given that x
and y are natural numbers?

I TH 9 R Hem 72x8431y4,
36 ¥ faurd ?, x 3R y WIhd ST ¥,

eﬁyaswmﬁma%fm[g-%j
1 TE A B?

5 1
(2) 17 (b) 275
2 9
(9 15 (d) 25

If the number 647592 is divisible
by 88 and if the digits are
rearranged in increasing order,
then the new number thus
formed will be divisible by:

T 647592, 88 ¥ fawa ¢ SR AR
T e % S ) R O e
foFen ST, < 39 YR S el T8 SE
frfafed # § forash gr1 foram g2
(a) 22 (b) 66

(c) 44 (d) 03

How many of the following
numbers are divisible by 156?
frafafeqd @ feadt Heard 156 9
fauma 2

312, 620, 936, 1402, 1872,
3216, 7176, 8108.

(@) 5 (b) 3

(c) 4 (d)1

The number of factors of 196
which are divisible by 4 is:

196 &% fhdd rEE 4 ¥ fauasa €2
(a) 228 (b) 4

(c) 3 (d) 57

What is the greatest number of
six digits, which when divided by
each of 16, 24, 72 and 84, leaves
the remainder 15?

TE Aehl HI 98 9t W oS WA B H
g, 59 16, 24, 72 3R 84 ¥ ¥ v
g fauqifrd % R, IUFA 15 =01 272
(a) 999981 (b) 999951

(c) 999963 (d) 999915

Find the least value of (A + B) if
the number 27B58A4 is
completely divisible by 88.

IS Hea 27B58A4, 88 gRIyvid: fawsa
%, dl (A+B) 1 =[a9 7 Fd it
(@) S (b) 2

(c) 4 (d) 7

&

64.

65.

66.

67.

68.

69.

Number System
If the number 6336633P is
divisible by 132, then the value
of P is:
6336633P, 132 5 fawsg €, @ P
1 AE F TA?
(a) 4 (b) 2
(c) 3 (d)6
The greatest number of five
digits which is divisible by 13,
15, 18 and 21 is:
T SAh I T8 St W TSI WA HiA H
13, 15, 18 3R 21 ¥ faurma 22
(a) 99120 (b) 98280
(c) 96840 (d) 95830
What is the greatest positive
integer that divides 554, 714 and
213 leaving the remainder 43,
57 and 67, respectively?
IE HOQ Tl O YU hE W
S8 554, 714 3R 213 =i fawie
HE W YA HHS: 43, 57 3R 67

I B 8?2
(a) 95 (b) 71
(c) 83 (d) 73

The number 150328 is divisible
by 23. If the digits are
rearranged in descending order
and five times of 13 is subtracted
from the new number thus
formed, then the resultant
number will be divisible by:

gem 150328, 23 © fawmg 71 af
9 &A1 % il Hl STAUE ®H W T
Fafeerd ferar s @ik 3@ g ffia
e § 9 13 &1 U= A we A =i,

T afom s fefatea o 9 fea 9
faarsa g2

(@) 3 (b) 5

() 11 (d) 2

What are the values of R and M,
respectively, if the given number
is perfectly divisible by 16 and 11?
Ifs & T T 16 AR 11 | oi: fawss
% @ RS M & A9 w3 &2
34R05030M6

(a) 4 and 6/4 3R 6

(b)7 and 5/7 R 5

(c) 5 and 5/5 ¥R 5

(d) 5 and 7/5 3R 7

If a 4 digit number x58y is
exactly divisible by 9, then the
least value of (x + y) is:

Ifg TH 4 A H T x58y, 9 ¥
ofa: faursg ®, @ (x + y) F I
A & B?
(a) 4

(c) 3

CHAéplnNPUBLICATIDN
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(d) 2



70.

If the following numbers are
exactly divisible by 9, then what
are the values of & and #
respectively?

Ifs frafafed e 9 | quia: fawsa
2, & R # & HH s F@ &2
51&918#0
(@) 4 3R 5
(c) 9 3R 8

(b) 8 IR 4
(d) 2 3R 2

numbers between 1 and 1000
(including both), which are
divisible by both 2 and 7. How
many such numbers are there?
T 1 3R 1000 (I Ffeq) & i
i TEASA T T AT T =TI HEAT 1,
S 2 &R 7 < 9 fasa €1 U Tt

HEAd 272
(@) 142 (b) 71
(c) 97 (d) 642

Number System

71. Ramu had to select a list of 72. The sum of the odd divisors of

216 is:

216 & fawq srs/hl &1 A fha 872
(a) 16 (b) 14
(c) 40 (d) 600

ANSWER KEY - NUMBER SYSTEM

1. (© 2. (d 3. (o 4.
11. (d) 12. (¢ 13. (a) 14.
21. (b) 22. (¢) 23. (d)

31. (b) 32. (d) 33. (a)

41. (b) 42. (d) 43. (b)

51. (b) 52. (d) 53. (o

61. (c) 62. (b) 63. (b)

71. (b) 72. (o)

I\ Gagan Pratap Sir

24.
34.
44.
54.
64.

(g 5. (¢ 6. (¢ 7.

(@ 15. (¢) 16. (a) 17.
(b) 25. (b) 26. (c) 27.
(d) 35. (d) 36. (d) 37.
() 45. (b) 46. (d) 47.
(@ 55. (d) 56. (d) 57.
(d) 65. (b) 66. (d) 67.

(b)
(2)
(d)
(2)
(d)
(b)
(b)

8 (b 9. (a 10. (o

18. (d) 19. (b) 20. (c)
28. (@) 29. (b) 30. (d)
38. (d) 39. (a) 40. (a)
48. (a) 49. (a) 50. (b)
58. (b) 59. (d) 60. (c)
68. (¢) 69. (b) 70. (b)
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Number System

Hints & Solutions

W
A

SSC CPO Tier-I (2018)
{12/03/2019} All Shifts
(c) Divisibity rule for '8' — last three
digits must be divisible by 8.
Divisibilty rule for '11' — the
difference between the sum of
the digits in the odd places and
the sum of the digits in the even
places must be a multiple of '11'
or 'Zero'.
= Divisible by '8'.
% =>y=2,8
divisible by 11
=>4+4+9=x+y+6
N
9 2

T x+2y=9+2x2 =13
(d)LCM of 15, 18, 24 = 360
360x+8 9x+8

13 13
(apply remainder theorem)
Here possible value of x = 2 that
is satisfy the division of 13
360%x2+8 = 728
7+2+8=17
(c) Divisivility rule of 8 = Last 3
digits must be divisible by 8
Divisibility rule of 9 = sum of
digits must be devisible by 9
72 = 8%9
9y6

5 = here y must be 3

7+4+2+9+3+6 = 31
[-.xmust be 5 (31+5=36)]

74x29y6

11

5 3
(2x+3y) = 10 + 9 = 19
SSC CPO Tier-I (2018)
{13/03/2019} All Shifts
(c) Divisibility rule of 8 = last 3
digits must be divisible by 8
Divisibility rule of 9 = sum of
digits must be divisible by 9
72 = 8%x9
4y4

5 = here y must be 2

(for min result)
5+6+3+4+2+4 = 24
(24+3=24 x must be 3)
56x34y4
1
3 2
x+y=3+2=5

IR\ Gagan Pratap Sir

(c)L.C.M of 15 and 27 =135

= 135 + 9 = 144

144 is not divisible by 11

so let the number = 135K + 9
11x12 = 132 is divisible by '11'

132K 1 ]EK + ?
This is For which
divisible value of ‘K’
by 11’ this is divisible
by ‘11’
put K=8 (use remainder
theorem)

3K+9=24+9 =33

-. Number = 135K + 9

= 135x8 + 9

= 1080 + 9

= 1089

sum of digits = 1+0+8+9 = 18
(c)88 = 11x8

divisibility rule of '8' = Last three
digits must be divisible by 8
Divisibility rule of '11' = The
difference b/w sum of the digits
in the odd places and the even
places is multiply of '11' or 'zero'.
3x6349y

49y

B = here y must be 6

I 3+6+4+y = x +3+9
3+6+4+6 = x+ 3 +9

=>x=7

2x +3y = 2x7+3x6 = 32
(b)L.C.M of 15, 18, 42 is 630

630x+8 6x+8
13 13
apply remainder theorem

13) 630ic+8<

3

x = 3 that is satisfy the division
of 13.
= 630%x3+8 = 1890+8
= 1+8+9+8 = 26

SSC CPO Tier-1I (2018)
{14/03/2019} All Shifts
(b) LCM of two natural numbers
is divisible by their HCF
(a) For '2' = Last digit must be
'zero' or multiple of '2'
For '3' = sum of digits must be
divisible by '3'
For '4' = Last two digits must be
divisible by '4'

O

10.

11.

12.

13.

14.

15.

For '11' = Difference of the sum
of even place value and odd place
value must be 'zero' or multiple
of '11'

Only option (a) is correct.

(c) (-3)* =-2187

(=3)* = (=3)"

x=17

(d)Three digit numbers which
can be formed using 3, 0 and 7
are:-

307, 370, 703, 730

sum = 307 + 370 + 703 + 730
= 2110

(c)For '2' = Last digit must be
'zero' or multiple of 'two'

For '3'= sum of digits must be
divisible by '3'.

For 'S' = unit digit must be 'zero'
or 'five'

Here only 'S'can not divide the
number because of its unit
digits.

all numbers except 5

(a) Greastest four digit number
= 9652

smallest four digit number =
2569

Hint:-
Greatest no. = In ascending
order
smallest no. = in descending
order

Difference = 9652-2569
= 7083

SSC CPO Tier-I (2018)
{15/03/2019} All Shifts
(a) For 3 = sum of digits must
bedivisible by '3'.
For 9 = sum of digits must be
divisible by 9
Logic — First check the
divisibility by '9'. And if a
number divisible by 9.
it must be divisible by '3'. So,
option 'a'is correct.

(€) 327) 10000(31

981
190
—327
137

'137' will be added to exactly
divisible by '327"
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16.

17.

18.

19.

(a) Divisibility rule for 2 — last
two digits must be divisible by
2.
Divisibility rule for 3 - sum of
digits must be divisible by 3.
For '6' = Divisible by 2 and 3
For '7' = check through basic
method
here 106974 is divisible by 2, 3,
6 and 7.
(a) 16008

Here Face value of 6 is 6.
(d)L.C.M of 8, 12 and 15 = 120

120i 999992 833

960
399
360

399
360

39

= 99999-39 = 99960
(b) (91)2 = 8281
8281 -8212 = 69

Alternatively:-

20.

21.

22.

23.

24.

91
9[22
81

112
181

-69

SSC CPO Tier-I (2018)
{16/03/2019} All Shifts
(c) Dividend = Divisor x Quotient
+ Remainder
Number = 38x24+13 = 925
(b) Let the students = x

o Sum = x2 = 3481
x = 59
(c) For 3 = sum of digits must be
divisible by 3
For 9 = sum of digits must be
divisible by 9
45789 =4+5+7+8+9 =33
And 33 is divisible by '3'.
(d)LCM of 15, 21 and 30 = 210

181

21 Oi 9999i 47
840
1599
1470
129

Number = 9999-129 = 9870
(b) For 3 = sum of digits must be
divisible by '3'.
2+1+0+1+0+2=6

And '6' is divisible by '3'.

25. (b) No. of rows =.,/1936 = 44
IR\ Gagan Pratap Sir

26.

27.

() 37) %gooizs

260
296

-36
37%x28 = 1036
= 1000 + 36 = 1036
(d)Dividend = n
Divisor = 7

Quotient = Q
Remainder = 3
n=7Q+3
multiplying with 'S’
S5n = 35Q + 15

. 35Q+15
Divide by 7 =T

Remainder = 1

Alternatively:-

28.

29.

30.

n
7—) 3 Remainder

5n_5x3 15

- = T = 7 — 1 Remainder

SSC CPO Tier-I (2019)
{09/Dec/2019} All Shifts
(a) Common difference =12 — 8=4
LCM of 12, 15, 20, 24, 30 = 120
largest 6 digits number =
999999
8333

120 999999
960

399
360

399
360

399
960
39

largest 6 digit number which is
completely divisible by 120 =
999960
999960 - 4 = 999956
(b) For divisible by 7, 11 and 13
the number must be divisible by
(7 x 11x13 =1001)
Any number must be divisible by
1001 only when the digits of the
number must be repeated in the
pair of 3 digits
Lxyz = 479
Number = 479479
x=4,y=7,z=9

y+tz 7+9

x 4 -4

(d) x468y05
x+6+y+5=4+8+0
x+y+1l1 =12

x+y=1 (or equal to 12)

o

31.

32.

33.

34.

Number System
By rule of divisiblity of 11 :-
The difference of sum of even
place digits and sum of odd place
digits is equal to zero or multiple
of 11.
(x + y =1) but it is not in option
so for making difference 11, (x +
y) must be equal to 12.
(b) LCM of 2, 3, 4, 5, 6, 7 = 420
no.— 420xk +1
The value of k must be like that
the number must be between
2800 and 3000.
Letk =7
420 x 7+1= 2940 +1= 2941
Digitsum=2+9+4+1=16
(d) 2388 4309 8151

~ — ~—
1921 3842

1921=17x113
HCF of these no.=113
when we divide these numbers
by 113 the remainder should be
15.

SSC CPO Tier-I (2019)
{11/Dec/2019} All Shifts
(a) Less than 1000 means till
999.
No. divisible by 5
First term = 5, Last term = 995
Common difference = 5

Lastterm - Firstterm

n common difference
995-5
T = 5 +1 =199

Similarly, No. divisible by 7 =
142

LCM of 5 and 7 = 35

No. divisible by 35 = 28

No. divisible by 5 or 7 but not
by 35 = 142 + 199 —(2x28)
(Reason of (multiply by 2) is,
these 28 numbers are present
in both numbers which are
divisible by 5 and 7 seperately.)
. ans is 285

(d) LCM of 2, 3,4, 5,6 and 7 =
420

No = 420xk+1

This number lie between (2000
and 2500)

-, k must be 5

420%x5+1 = 2101

Sum of digits of number -
2+1+0+1 = 4
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35.

36.

37.

38.

39.

40.

(d)LCM =2 x2x2 x2 x3x3x
S

for making perfect square we
have to multiply LCM by 5
=2x2x2x2x3x3%x5x%x5
= 3600

29
123)3600

246
1140
1107

33

Remainder = 33

(d)Let, quotient = 1

Number = 65 x 1 + 56 = 121
When 121 is divided by 13 then
remainder = 4 = x

J5x4-2= 18 = 3/2
SSC CPO Tier-I (2019)
{12/Dec/2019} All Shifts

(a) 3738 5659 9501
~
1921 3842
~—~—
1921 = x
when we divide these numbers
by 1921, we get 1817(y) as
remainder.
x+y=1921+1817 = 3738
(d) For divisible by 3, 7 and 11
the number must be divisible by
LCM (231) of these number

233

538xy
462
76 x —» x should be 2
693
69 y —>» y should be 3
693

X

231

Lx=2,y=3
=>x2+y?=22+32=13

(a) LCM of 4, 5, 6, 7, 8 and 12 is
420

The number must be 420xK + 2
Which is divisible by 13

Use Remainder theorem

420xK+2

13
4K+2
13 (K must be 6)
420 x 6 + 2 = 2522
Sum=2+5+2+2=11
(a) Divisible by 6 the number
must be divisible by 2 & 3
separately .. 5643252

IR\ Gagan Pratap Sir

41.

42.

43.

44,

SSC CPO Tier-I (2019)
{13/Dec/2019} All Shifts

L 2001
(b) Divisible by 3 = 3 - 667

2001
Divisible by 4 = ——— = 500

4
LCM of 3,4 = 12
Divisible by (3,4)
First term = 12
Last term = 1992

199212

12
Divisible by (3,5)=133
Divisible by (4,5)=100
LCM of 3,4,5 = 60
Divisible by (3,4,5) = 33
No. divisible by 3 or 4 but not
5=
667+500-166-133-
100+33=801
(d) Divisibility rule for 3 — sum
of digits must be divisible by 3.
Divisibility rule for 11 — The
difference between the sum of
the digits in the odd places and
the sum of the digits in the even
places must be zero or multiple
of 11.
1563241234351
sum of all digits =
divisible by 3.
Diff. between sum of even place
& odd place
17~23 = 6
6 is not divisible by 11.
~.neither divisible by 3 nor by
11
(b) LCM of 8, 9, 12, 14 & 36 =
504

Total term = +1 =166

40 is not

504 xk +4
11
Now use remainder theorem,
9k +4
11
9x2+4 22
1111
completely divisible.
= 504x2+4
= 1008 + 4 = 1012
Sum of the digits =
= 1+0+1+2 = 4
SSC CPO Tier-1I (2020)
{23/11/2020} All Shifts
(c) Divisibility rule of '8' = Last
three digits must be divisible by
Q!
78y
Nearest value of y is 4.

The required no. =

k should be 2.

45.

46. (d)

47.

Number System
Divisibilty rule of '9' = Sum of
digits must be divisible by '9'
Now, sum = 44+4+x
nearest value of x = 6
785x3678y

6 4
=>(x-y)=(6-4) =2
(b) L.C.M of 15, 18 and 36 = 180

11)180n+9

6
= 180n + 9
(Apply remainder theorem)

180n+9
11
4n+9
11
= 180x6+9
= 1080 + 9
= 1089
14331433 x1422 x1425
12
Simplify by '3’
+1 +2 +3
— 14331433 x1422x475 - =
4
= Denominator is going to
remain '12' so multiply by '3' in
numerator and denominator.

(n=16)

o))

N

_ 18

T 12

.. Remainder = 6
T75x73x78 x76

(d)

34

= simplify by '2'
+7+5+10 +4

— 75x73x78x38

17

(7x5)x (10 x 4)
17
+1 +6

— 35x40
17

6
=17

Denominator must be '34' so
multiply by '2' in numerator and
denominator.

12
734
= Remainder = 12
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48.

49.

50.

51.

52.

53.

54.

55.

(a) The number must be the LCM
of these numbers
L.C.M of 5,6,8,10 and 12 = 120
SSC CPO Tier-I (2020)
{24/11/2020} All Shifts
(a) Number of students = x
x* = 2809
x =53
(b) 5x2y6z is divisible by 7, 11
and 13
= In 6 digit number if first three
digit and last three digits are
same then the number is
divisible by 7, 11 and 13.
(Exp. = 326326)
=5 x 2y 6 z
I 1 !
6 S 2
= (yt32) =6-5+6=17
(b)*2 3 +8 +6
72 x 73 x 78 X 76
35
2x3x8x%x6
35
+1 +8
= 36 x8
35
8x1
35
Ramainder = 8
(d) The number will always be
their LCM.
L.C.M. of 4, 5, 8, 10 and
12 = 120
(c) L.C.M. of 5, 6 and 7 = 210
210 x2 =420 v
210%x3 = 630 v
210 x 4 = 840 x
Only two numbers are possible.
(a) (Divisorxquotient)+remainder
= Dividend
3]155]2
4] 51 (3
71 1215

=

1
7x1+5 = 12
12x4+3 = 51
51x3+2 = 155

84} 155(1 —> quotient

84

71—> Remainder
SSC CPO Tier-I (2020)

{25/11/2020} All Shifts
(d)L.C.M of 15, 18 and 36 = 180
180n+9 4n+9
11 11
apply remainder theorem
= 180x6+9
= 1080 + 9 = 1089
= 1+0+8+9 = 18

=

IR\ Gagan Pratap Sir

56.

(d)LCM of 5, 6 and 8 = 120

1202 = 240 x
120x3 = 360+
120x4 = 480,
120x5 = 600,
120%6 = 720 x

= Only 3 numbers between 300
and 700 are divisible by 5, 6 and 8.

<< SSC CPO 2022 T;i>>

57.

58.

59.

60.

61.

62.

(b)LCM of 12, 16, 24 = 48
No.s divisibly by 48 between 550
and 700, 576, 624, 672

Sum of no.'s leaving 5
remainder each time

= 581 + 629 + 677 = 1887
(b)36 =9 x 4
For 9 — digit sum should be
divisible by 9

2+x+y

9
L x+ty=17,16

y4
For4—>T.'.y=2

(d)New no. = 245679
digit sum = 33
. no. is divisible by 3.
(c) 156 > 3 x4 x 13
Check with 3 —
312, 936, 1872, 3216, 7176
Check with 13 —
312, 936, 1872, 7176
. 4 no.'s are divisible by 156
(c) 196 = 22 x 72
No. of factors divisible by

4 =222+ 1}

= 3 factors

(b)LCM of 16, 24, 72, 84 = 1008

Greaters 6 digit no. divisible by
1008 = 999936

. Greatest 6 digit no. divisible
by each of 16, 24, 72, 84 leaves
remainder 15 = 999936+15

= 999951

O

63

64.

65.

66.

67.

68.

Number System
(b)88 —> 11 x 8

%;A:Zﬁ
8

27B5824
11
(14 +B) ~ (14) =0
~ B=0
-, minimum (A + B) = 0+2 = 2
(d)132 > 11 x 12

4N
4 x3
6336633 P
digit sum = 30 + P
. P =6 (" For divisibility by 4
last two digit should be divisible
by 4)
(b)LCM of 13, 15, 18, 21 = 8190

8190)99999(12
8190

18099
16380
1719

|

. Required number

= 99999 - 1719 = 98280
(d)Required number =
HCEF of (554 — 43, 714-54, 213-
67)
HCF of (511, 657, 146)

AV
146
2
2 x73
. Required no. = 73
(b) New number = 853210
According to question —
853210 - 5 x 13 = 853145
. This no. will be divisible by 5

(c) For 16— Last 4 digit should
be divisible by 16

30M6
16 ’
Divisibility rule for 11 — The
difference between the sum of
the digits in the odd places and
the sum of the digits in the even
places must be zero or multiple
of 11.

34R0503056

(16 +R) ~ (10) = O or multiple of
11

~ R=5
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Number System
72. (c)216 — 23 x 33
Total divisiors = (3 + 1) (3 + 1)
=4 x4=16
Even divisor = 2 (22 x 39)
=@+ @E+1)-

13+x+y 71. (B)LCM of 2, 7 = 14

69. (b)For 9 > 9 List of numbers

~ Leastvalueof x+ y=35 =14, 28 .......... 994
70. (b)For 9 — Digit sum should be No. of terms =

= T i1=

S+1+&+# 14 * 71

T,&.+#= 12, (8 +4)

. 8 and 4

CHA:-PIUN
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. Odd divisor = 16 — 12 = 4
Sum of odd divisor
=(3°+ 3+ 32 + 39
=(1+3+9+27)=

All Formulas and Theorems | Smart Tricks
Arithmetic & Advance Maths
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Simplification

< < SIMPLIFICATION ( |ceR{UT)

1[0 [5(3,3 4 SSC CPO Tier-I (2018)
<< SSC CPO 2018 ,__ ,5)> 5= - 32—{6 (g IO_ISJH > {16/03/2019} All Shifts
SSC CPO Tier-I (2018) (a) 2.1 (b) 2.8 20 14-6x%x2 _
{12/03/2019; All Shifts (c) 2.5 (d) 1.8 * 15-3+3
4 3 4 3 1 63.5x63.5x63.5+36.5x36.5x36.5 1
A A T 10. 6.35<6.35+3.653.65 - 635365 = (@) (b) 2
a) 100 (b) 1000
il b 2L Ec) 100000  (d) 10000 N d 62
@ 25 ) 35 © 3 (d)
8 7 ol 2L {31—{5—(3f+91m _o 21. 24+6-2)+(3 x2+4)
© < @ 5 30 |75 |6 UUs 2 (@) 24 b) 16
5 675x675x675+325x325%325 _ (@) = (b) 10 (c) 20 (d) 12
*  67.5x67.5+32.5x32.5-67.5x32.5 ° 5 3 22. 15-{5+24+(3x9-15)}="?
(2) 10,000  (b) 100 . 11 )
STl ; SSC CPO Tier-In(ZOhl?) .
3,1, [0 (,1.3 {14/03/2019} All Shifts 6L .
<k 94{26+{43 (22 4}}}‘? 12. 3x3-[6-{12+ 15+ (7 -2)}]=? © % (d)
(a) 4 (b) 3 (@) 15 (b) O 23. (- 4) x (1020 + 85 x 3 - 22) = ?
15 17 (c) 18 (d)-15 (a) —402 (b) 56
() o ) — 1,55 _, (c) 912 (d) 72
4 + 18. 376" 78 7 24. 3x7+4-6+3-7+45+5x4
5 [.2 [.3(.4 .1 _
52422 |33 3_+9_m=. 1 +49 =7
4 7% { 3 { 4( 5 72)]|77 @ -5 (b) O (@) 99 (b) 101
22 ] (c) 103 (d) 67
()7 (b) 3~ () 1 @ 5 25. (8+4-2) x (17-12) x 10 — 89 = ?
44 43 . . (a) 4150 (b) 4120
(c) — (d) & 14. §x4{7—(EX(13+2)H =7 (c) 413 (d) 411
0.72x0.72x0.72-0.39x0.39%x0.39
5 i PL 5—(2+3—4D = 1 26. 0.72%0.72+0.72x0.39+0.39x 0.39
: 5 72 (6 \5 10 15 (@) 0 (b) 5 (2) 0.33 (b) 0.45
6 11 2 0.39 d) 0.36
(@) < (b) 7o ()1 @ 25 i -
9 13 15. 7 - (4 x 3-(-10) x 8 + (-4)) = ? << SSC CPO 2019 Tierli’>>
©) 7o (d) 5 (a) 53 (b) O
SSC CPO Tier-I (2018) e 2 el 1 SSC CPO Tier-I (2019)
: PO Tier-I (2018
{13/03/2019} All Shifts (151032015 All Shifes {09/Dec/2019} All Shifts
6. 6.75x6.75x6.75-4.25x4.25%x4.25 16. (-4)x (-8 +(-2)+3x5="?
67.5x567.5+42.5(]>:<))4(2).52E67.5><42.5 (@)1 (b) 1 7. 77_27 fl,_[§+l 13)_529
2. . .
Ei)) 0.0025  (d) 0.025 (c) 31 (d) =81 3 B 7 4/ 29
3 [5]1 (8 4 1
Ll fs (e o), ar 22022 ) by L
7. 3 {32 {6 (5+10 1SJH‘? 4[24 15 3 @ ) 24
13 3 1
21 7 13 3 1
@ To (b) 5 @ 24 ()7 ()1 @ 1
1 11
’ & (©) 7 @ 1, (1) 1)’
c) 3 (d) 3 4 12 2 = e |
e 3 18. 13+{4of2-3+4x(6-4)=2 28 s(ﬁy [x y) |7?
5 [,2 15[ 4 1JH 1
324321252142 |l |- 5 oL
8 % { 3 {4 5 2|7 (a) 273 (b) 1 2 o &
37 35 (c) O (d)1.3 2y y
@ % (b) & 19. 10— {17 — 12 + (5+9x2 — 17)} = i o
19 A= o © @

IR\ G2gan Pratap Sir @ CHAéplnNPUBLICATIDN



29.

30.

31.

What is the simplified value of

1 15 2 1 3+4
- —+5of2—- 3, 43
4 2 “16 3774 F+4
1+ 11
=42
3
1)
(@) 7 (®) 13
5 a2
(©) 13 d 13
(320 + 342 + 530 + 915) = (20 +
22 — x+ 18) = 43, then the value
of x is:
(320 + 342 + 530 + 915) = (20 + 22
~x+ 18) = 43, & xH TH T HfT)
(@11 (b) 23
(c) 26 (d) 15

The value of

0.325x0.325+0.175%x0.175-25%x0.00455

32.

33.

(

34.

35.

5x0.0065%x3.25-7x0.175%x0.025
lies between: /1 9 frEe we 872
(@) 0.25 and 0.35

(b) 0.05 and 0.25

(c) 0.15 and 0.25

(d)0.35 and 0.45

5+ [5+8-{4+(4of2+4- (2+4
of2)] =7
() 5/8 (b) 5/7
(c) 20/29 (d) 20/23
(5——§of)

4 7 2
51_7z+9i) £+(2 Qf)
9 8 20 21
(a)9/4 (b) S
(c) 3 (d) 7/2

SSC CPO Tier-I (2019)
{11/Dec/2019} All Shifts

0.74x1.23x0.13

(0.37] +(0.417 —8(0.39F
(@) 5 (b) 1

1
(€)1 (@ 5

A student was asked to find the

IR MR
9 5 2° 25

value of
2of4+(3><30f4)
3 9 5 5
2,345
3 4 6

His answer was — . What is the

9
difference between his answer
and the correct answer?

I\ Gagan Pratap Sir

36.

37.

38.

39.

2
Eﬁmmwmlmﬁ'{EWI

IS I AN WE SW & & H AR
A i)
1

(@) 322 b) 3
1 1
(c) 3 (d) o4

5-[2+3(2-2x2+5)]+5
4x4+40f (4+4=40f4)

3 3
4— 7=
@455 B 7%
3 2
32 z
@37 @z
The value of

4.669x4.669-9x(0.777F
(4.669) +(2.331)> +14(0.667)(2.331)°
(1 - k), where k =?

4.669x4.669 -9 x (0.777)
(4.669) + (2.331) +14(0.667)(2.331)
w1 7 (1-k), ®, i k = ?

(@) 0.666 (b) 0.647
(c) 0.467 (d) 0.768
The value of
L [a3-s1-2})]
3 4 6 3
(1 1 1J (1 1 1J lies
—of -+ |+| =+ =x=
575 5 5 5 5
between
[42 12}
3 4 6 3

(1 1 1] [1 1 1]6!?[141'—[
Zof -+ |+ =+ =x

575 5 5 5 5
forgs Teg o shm?

(@) 10.2 and 10.8

(b)4.2 and 4.4

(c) 8.2 and 8.8

(d)0.4 and 0.9

SSC CPO Tier-I (2019)
{12/Dec/2019} All Shifts

(1_21} PR 1,11
3 °2)°4 4 j339
3,11 ofis 111
1063 9 3 6
@) - (b) §
4 27
() g7 d 5

Simplification

40. The value of

41.

42.

43.

N

47.

4.

(0.13)"+(0.21)°
(0.39)*+81(0.07)’
(2.4)" +3x(11.52)+9
(2.4)° +6(2.4)" +3x(17.28)
between:
(0.13) +(0.21
(0.39)* + 81(0.07)?

lies

(2.4)* +3x(11.52)+9
(2.4)° +6(2.4)" + 3x(17.28)
foreeh w= 82

(@) 0.4 & 0.5
(c) 0.5 & 0.6

8+](9-5)+
(8 +80f16) +(4x2+8))]=
E
23

1 7

(b) 0.7 & 0.8
(d) 0.6 & 0.7

{(4+20f4) -

@ 5 (b)

32 dé
© 53 @ %

If \/0.00576xy =2.4,then y is

equal to:

Rk /0.00576xy =2.4 T, @ y
I 4 E?
(a) 2400 (b) 3600
(c) 1200 (d) 1000
(2.8) +(2.2)°

(28)° —28x22+484
(a) 0.05 (b) 0.01
(c) 0.02 (d) 0.5

56+§0f2 78

> =9
15— 0f(29-14)

(a) 10 (b) 11
(c) 15 (d) 12

17.35+%of55—7

(42+6><8.35)—%0f(%—é)+[291+(8O+8)]

(a) 1 (b) 4
(c) 2 (d)3
SSC CPO Tier-I (2019)
{13/Dec/2019} All Shifts
(0.321)° + (0.456)° - (0.777)
0.9x(0.107)(0.76)(0.777)
(a) 60 (b) -6
(c) -3 (d) 30
5-2+4x[5-(3-4)]+5x4+20f4
4+4+80f2x(8-5)x2+3-8+20f8

9 9
(a) 3 () 4

15 89
() 32 (d) e

CHAéplnNPUBLICATIDN



48.

49.

50.

51.

A student was asked to find the
value of

(21+2171]+2lx52%120f4l

372 6) "33 3 4 His
3l 4lorslisl3.02
5 2 "3 "3 4 "3
6 .
answer was?. What is the

difference between the correct
answer and his answer?

e faeenefl =i
(21+21_lj+21x52+130f41
3 "2 6) "3 73 '3 4
3.l+4lof51+51x§+2g
5 2 "3 "3 4 73

#1 AF fikem & faw @ e em

mwéwuﬁwaﬁim

7
W & o FAR Jd BT
9 5
(@) 14 (b)ﬁ
11 6
(C)@ (d)4—9

(0.013)’ +(0.007)(0.000049)
(0.007)* +0.013(0.013 - 0.007)
(a) 0.02 (b) 0.06
(c) 0.04 (d) 0.07
4-3+2x(4-2)-3+4x3+2+4

4+3+4x%x(2-4)x4+3+40f3

(a) - (b) —32
-32
(c) 32 (d) =~

The value of

llx1i+2—lj+ 2i+llof§j
9 20 38 3 9 15 5
11,1 1 11
5 5 125 25 5 5

lies between

ll><li+2—l + 2i+llof§

9 20 38 3 9 15 5
1 .1 1 1 1 .1
Soft et T L of=

5 5 125 25 5 5
F 9 fros a9 o feom 87

(@) 0.15 & 0.2 (b) 0.1 & 1.5
(c) 0.25 & 0.3 (d) 0.2 & 0.25

SSC CPO 2020 ,;{>>

52.

SSC CPO Tier-1I (2020)
{23/11/2020} All Shifts

40 —§of32
4

37- %of (34-6)

1
(b) -5

1
(@) 5 2
(d) 0

(c) 1

I\ Gagan Pratap Sir

53.

54.

55.

56.

57.

1
8-3+6of 2+ £4+40fzj+8

+

(4><8 4jxg=')
97

(a) -7~ (b) o
T 7

© -7 (d) 7

6.35x6.35x6.35+3.65x3.65x3.65
63.5%63.5+36.5%x36.5-63.5%x36.5

()1 (b) 10
(c) 0.01 (d) 0.1
1 1 3 (3 1 3
3325 of1§+(§+7><1zj =?
35 55
@ O
25 S
© 24 @) 24

(5322011 (s17T-02)
4 7 2 9 8 20

NELSS (5+20f1] -

21 2
35
@ 5, (b) 0
15
(0) -2 @ 55

0.325x0.325+0.175x0.175+25x 0.00455

5x0.0065x3.25-7x0.175x0.025

0.5
_— =7

1.5
(a)3 (b) -1
(c)-3 (d) O

SSC CPO Tier-I (2020)
{24/11/2020} All Shifts

58. The value of
0.325x0.325+0.175x0.175+25 x 0.00455

59.

5x0.0065x0.325-7x0.175x0.025

+E is:
11
@3 (b) 0
(c)3 (d) ’
3

@ 54 (b)

24

© 54 (@

24

Simplification

60. (5+20f %j + (51+§ofl) -

61.

4 7 2
(51—7Z+92j x 1—1=’)
9 8 20 21
(@)-2 (b)8
15
©) 58 (d) 54

4.35x4.35x4.35+3.25x3.25x3.25

43.5x43.5+32.5x32.5-43.5x32.5

62.

63.

64.

(@) 0.0076  (b)0.76
(c) 0.076 (d) 7.6

SSC CPO Tier-I (2020)
{25/11/2020} All Shifts

40+ 3 of 32
4
3 -
37+Z of (34-6)
3 9
@259 (b) 159
3 3
©159 (d)-15g
1-3+6 of 2+ (4+4 of %)+8+
(4x8 = ljxl =7
4) 8
69
(a)—z (b) Y
69 7
(C)_T (d) 7

427 x 427 x 427 +325x 325x 325

42.7x42.7+32.5x32.5-42.7x32.5

65.

1 1 3 P*lﬂéj
237250154 (8777°%) .

(a) 7520 (b) 75.2
(c) 75200  (d) 752
2 3 .4 4
—+— —— = X
3’10 9 5

1 8 3 1
1=+ — 4=+
915 4 2

14 o L
@ 3 (b) 7

49 29
© 13 @

7+ [5+1+2— {4+(4 of 2 +4)+(5+ 5
of 2)}] =?

7

(@7 (b) 5
7

©-5 (@-7
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<< SSC CPO 2022

D)

Tier-I &

67. In an examination (+5) marks
are given for each correct answer
and (-2) marks are given for each
wrong answer. Jai answered all
the questions and scored (—12)

marks,

although he got 4

answers correct. How many of

his answers were wrong?

T el H YA® HE SW & fau (+5)
Hw U o| & SR g Mo S B
faw (-2) e Ky S &1 s/ 3 gedt e
% S| U 3R (-12) % W g,
BTeAlfeh 39 4 IR wE et 3w fohae

W T 92
(@) 16 (b) 8
(c) 32 (d) 20

68. What is the value of 'a' in the

below equation?

= fSu T g § 'a’ @ W |

ey

{(5x5><5x5><5x5)5><(5><5x
5x 5 x 5)8 + (5 x 5) = (625)°

(@) 14
(c) 16

(b) 17
(d) 15

69. What is the positive value of the

following expression?

T=fafaa AMT=ae 1 9Rcds JH

2?2

36+ 15 0f 2 of [25x4+4 of {29—(8-11)+9x5)=50f 3)]

1

71.

72.

g 3-(5-3) of8.8-1.2
8 s (8 s

41+2.5x2+10f60+(3—3j
6 6 48

22 23
(@) 553 (b) 3

44 4
(c) 4g (d) 4g

The simplified value of (0.2)® x
400 + 2000 of (0.2)? is:

(0.2)° x 400 + 2000 of (0.2)>

£l
(@) 1/25 (b) 3/25
(c)2/25 (d) 1/50
Solve the following.

fr=fafeq =t ga sifs)

{252 +8+2 7{16+(280f7+22)7[182 :lfof;)H

73.

74.

75.

(@) 721 (b) 626

(c) 529 (d) 579

Solve the following equation.
frfafed e i ga Siul

456—(76+152)+%o 75 (

18

19 ]
72x24
(a) 443
(c) 356

(b) 256
(d) 401

1= 1~
© 150 (d) 20
Solve {1 + 7 + (16 + 8 + 2)} + {(6 x

2%+ 6} x 3¢}
{1+7+(16+8+2)}+{6x 22+

Simplification

2
6) x E} H T A H
(a) 17 (b) 21
(c) 19 (d) 12
76. Simplify the following /f=fafed
FI FA HIST

(20+50f3x6) + 2
81 + {(8+240f3)x 4} —(ijig
' 32
-10+5
1 1
24— 21=
(a) 2 (b) 9
4 4
A7= 20—
() 5 (d) )
J-2744 x3-216
77. =7
i/64
729
(a) 164 (b) 152
(c) 189 (d) 156

78. (1018)2 -1019 x 1017 + 1015 x
1012 - 1016 x 1011= "7

(@)1 (b) 4
(c)3 (d) 5

79. Solve the following/f=fafea =t
B iy

24+30f(8+2><7—3)+{2+4+{5+6}i|
8 11 55 |8 16
30+15—7+75+(6+15-3+4)
(2)23/27  (b)9/2
(€ 13/18  (d)15/19
80. 72 + 8 x [{(57 ? 49) + 2} + {(85 ?
60) + 5 - {(28 ? 19) + 3}] = ?

ANSWER KEY - SIMPLIFICATION

14.
24.
34.

44,
54.
64.
74,

5
() 1g (b) 15
(© 25 @ 23
70. Find the value of the following

expression.

frefafea =es #t o Hifwul
1. (b)) 2. (¢) 3. (b)
11. (b) 12. (¢) 13. (a)
21. (d) 22. (d) 23. (b)
31. (a) 32. (¢) 33. (b)
41. (d) 42. (d) 43. (a)
S51. (a) 52. (¢) S53. (d)
61. (c) 62. (¢) 63. (b)
71. (&) 72. (d) 73. (a)
81. (b)

I\ Gagan Pratap Sir

@ 5. () 6. (d 7.
d) 15. (d) 16. (a) 17.
(b) 25. (d) 26. (a) 27.
(@) 35. (a) 36. (a) 37.
(b) 45. (a) 46. (b) 47.
(d) 55. (@ 56. (c) 57.
(© 65. (d) 66. (d 67.
(© 75. () 76. (d) 77.

(a) 56 (b) 46
(c) 54 (d) 60

81. The value of 1801 x 1801 is:
1801 x 1801 & HM ........... 2l
(a) 3423601 (b) 3243601
(c) 2343601 (d) 3243106

a 8 (¢ 9. (a 10. (d)
18. (b) 19. (a) 20. (a)
28. (a) 29. (d) 30. (a)
38. (b) 39. (c) 40. (d)
48. (d) 49. () 50. (d)
58. (a) 59. (b) 60. (b)
68. (b) 69. (b) 70. (c)
78. (d) 79. (¢) 80. (c)
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Simplification

<

-

Hints & Solutions

j>

SSC CPO Tier-I (2018)
{12/03/2019} All Shifts

4 3 4 3 1
1. (b)4g—70f7+§ E—g
= Use 'BODMAS' operation
24 1 6 1
=5 *3%25"5
8,6 1
S 25 5
40+6-5 41
- 25 25
2. (e
675x675%x675+325x325 %325
67.5x67.5+32.5%x32.5-32.5%x67.5
(675)” +(325)°
= 1001 (675)? + (325)" 325 x 675
[a%+b? = (a+b) (a>+b*-ab)]
= 100 (675 + 325)
=1,00,000
1 1 3
3. (b)9—— {2 +{4§—(25+Z)H
= Use 'BODMAS' operation
39 (13 |13 (5 3
:zﬁ{6%§“g*ﬂﬂ
39 (13 13
27{?*5}
39 39
MTRaTIs
a. (a)sg{%—f%{%w%}ﬂ
35 |8 15(19 2)
=T€*k‘hfs w}}
35 [8 3]
3?*[5_2
35 7
%6 6
42
=?=7
s (b,sl{zl—[s—(%s—“m
: 57172 {6 \5 10 15
16 |5 (25 13]
jg{E_ 30 30 }
16 |5 12
=5 [5 30}
16 63 33 11
~ 5730 '30 10
I\ Gagan Pratap Sir

SSC CPO Tier-I (2018)
{13/03/2019} All Shifts
6. (d)

6.75%x6.75x6.75-4.25x4.25x4.25

67.5x67.5+42.5x42.5+67.5x42.5

1 (6.75)° -(4.25)°

~100 [(6.75)2 +(4.25)

=Tog [2-5] = 0.025

7. (a)5§—{3;‘{2‘@+1lo_fsm
-2 [1-f2-(o3)]

23 11 fis(as, 2}

23 [11 g}
6 |3 2
23 13
ZSN 2
6 6

. wst[o3-{E-(Er-)]

use 'BODMAS' operations

e

26 93 21

5 %310=2.1
10. (d)

63.5x63.5%x63.5+36.5x36.5%x36.5

+(6.75)x4.25
apply:- [a°-b® = (a—b)(a*t+b?+ab)]

6.35%x6.35+3.65%x3.65-6.35x3.65

multiply and divide by '100'

63.5%x63.5x63.5+36.5x36.5x36.5
63.5x63.5x36.5x36.5-63.5%36.5

100

(63.5)" +(36.5)°
(63.5)° +(36.5)" —(63.5)(36.5)
[a® +b3 = (atb)(a?+b%-ab)]
= 100(63.5+36.5)
= 100(100)
10,000

CsO

11.

12.

13.

14.

15.

16.

17.

19.

17 [16 13
%J{?_%}
100 10
30 3

SSC CPO Tier-I (2018)
{14/03/2019} All Shifts
(c) 3x3-[6-{12+15+(7-2)}]

= 9-[6-{12+3}]
= 9-[-9]
= 18
1 5
@365
1 6 ( 5)
1.6 (.5
=357
1
:>—_
4

(@2 x4[7—(%x(13+2)]:|

3 12 2
= 5><4[7 6] = 5 —25
(d) 7-(4x3—(-10)x8+(-4))
= 7%(12-20)
= 7-(-8)
= 15

SSC CPO Tier-I (2018)

{15/03/2019} All Shifts

(a) (—4)x(-8)+(-2) +3%5
= -16+ 15=~-
3 5|1 8 4
Bz {2{4*(5‘3]}}
3.5
T a 2(15)
3.1 9+2 11
"2 12 12
. (b) 13+{4 of 2-3+4x(6-4)}
= 13+{8-3+8}
=1
(a) L0—{17-12+(5+9x2-17)}
= 10-{17-12+(6)}
= 10-15
--5

CHAéplnNPUBLICATIDN



20. (a)

21.

22.

23.

24.

SSC CPO Tier-I (2018)
{16/03/2019} All Shifts

(d) (24+6-2)+(3%x2+4)
=2+10 = 12
(d) 15-{5+24+(3x9-15)}
=15-7=8
(b) (-4)%(1020+85x3-22)
= (-4)x(14) = -56
(b) 3x7+4-6+3-7+45+5x4+49
Use BODMAS operation
= 21+4-2-7+36+49 = 101

25. (d)(8+4-2)x(17-12)x10-89
= 10x50-89 = 411
26. (a)

0.72x0.72x0.72-0.39 x 0.39 x 0.39

0.72x0.72+0.72x0.39+0.39 x0.39

27.

28.

29.

a’-b°
T a’+ab+ b’
_(a-b)(a®+Db*+ab)
- a’+ab+b?
=0.72 - 0.39 = 0.33
SSC CPO Tier-I (2019)
{09/Dec/20 19} All Shifts

2 ofl— [3 1 13) 5
5 (8 7 4 24

2_§ 8 (LLXZ)_E

3 2 5 8 7 4 24

(3 1) 5
— 4| —+=|-—
3 8 4 24
ﬁ_(%z]_i
4x3 8
11 5 S

6 8 24

11 20

6 24
1151156

= (a-b)

() 7

(a+b)*—(a—-b)* =4ab

l><4><x><—: X
y 2y

(d)

1 15 2f1 3+4

7 |"1673%%% T

—+2

I\ Gagan Pratap Sir

30.

31.

1 1529 7

1 | 15,3 7
4 2x7|716 2 o1

10

1x10
1-—— [ x—
( 26)

s 7
26 8 91
5 1 4

13 13 13

(a) (320 + 342 + 530 + 915) ~
+22-x+18) =

2107 = (60 — x) = 43

2107 = 60x 43 — 43x
2107 — 2580 = - 43x
473 = 43x

x=11

(a)

1-

1527
16391

(20

0.325x0.325+0.175x0.175-25x0.00455

5x0.0065x3.25-7x0.175x0.025

0.325x0.325+0.175x0.175-2x0.325x0.175

32.

33.

0.325x0.325-0.175x0.175
(0.325-0.175)
(0.325+0.175)(0.325-0.175)
0.15

05 - 0.3

lie between 0.25 and 0.35
4+(4of2+4)
(€754 705, 40p2)
1
5+|:13—(4+2——j:|
4
5+ (13_2]
4
5+(52—23j
4

5x4_@
29 29

1 3 .1
(b)= (SZ+7Of5j+

(51—77+99j 11 (2 2of = j
o '8 "20)°21 2

21 3 46 63 189

>lGorg et on

x£+(2+2x—j
21 2

34.

35.

36. (a)

(_

Simplification

21 14 46 63 20, 11
)+ (- )42
3 9 8 189 21
49 (46 5) 11

> — 3| ——-=[x=+2
2 (9 6) 21
49 | 77 11

= — —+2
2 18 21
49 18 11
—X—x—+2
2 77 21

=3+2=5

SSC CPO Tier-I (2019)
{11/Dec/2019} All Shifts

0.74x1.23x0.13
(@) 0,372+ (0.41)7° - (2x0.39)°

0.74x1.23x0.13
(0.37)* +(0.41)°— (0.78)°
0.37+0.41-0.78 = 0

when at+b+c = 0 then
as+b3+c® — 3abc = 0

a®+b3+c® = 3abc

0.74x1.23x0.13
T 3x0.37x0.41x(-0.78) ~ 3

i_(é_ij 9
9 (5 2) 25|%
gof 4+(3x30f4j
3 9 5 5

15 25

“16 324
25 47
Difference = 9 324 32 2
~-[2+3(2-2x2+5)-5]+5
2 4x4+4oﬁ4+4+mﬁ@
—[2+9-5]+

= 4x4-+ 40f£

_ 2.8 25

5727 " 36

6
5-6:5 5
i
7

4x4+17 4%

16 323 3

16 5 *17° 80

5 19
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Simplification
37. (a)

8 (2.8°+(2.2° 100
4.669x4.669-9(0.777)’ _33_2 ; 4 81 43. () (og) T28x22+484 100
(4.669)" +(2.331)° +14(0.667)(2.331) %o 5 2 multiply and divided by
(4.669) —(3x0.777) (2.8+2.2)
(4.669)" +(2.331)" +2(7x0.667)(2.331) IO TRV (28+22[28°+@2] 1
(4.669)" - (2.331) 3732%15" 2 (2.8+2.2]2.8F —2.8x2.2+(2.2F] 100
(4.669)" +(2.331)" +2(4.669)(2.331) 5. 9L 2.8+22 5 o«
a2 — b2 2 100 100
— 4
a’ +b” +2ab - 81 56+§of27—8
(a+b)(a-Db) 44. (b)=__ 3
(a+b) (0.13) +(0.21)? 15— Zof (20-14)
40. (d) 5 301 £ 81(0.07
a-b 56+18-8
2 b (0.13)* +(0.21)? 1 ~ 15-9
4.669 - 2.331 9(0.13y" +9(0.21* 9 _66
4.669 +2.331 (2.4)* +3(11.52) +9 - 161
2-?;38 & (2.4)° +6(2.4)" +3x17.28 45. (a)
212 2
2.338 (e AT s LR £ 17.35+Zof55—7
K=1- - (2.4)° +6(2.4)" +3x(2.4)° x3 5 52 -
4662 o { (2.4)+3(11.52) 49 (42+6><8.35)—7of(§—EJ[291+(80+8)]
7 . (2.4 * (2.4)'+6x2.4/+9 |7 B85
38. (b) 1 [3(1 1)} =
4142 _|32—-2= 1 3_7 291
_ 58.45)- S x——+ =
37174 U6 "3 %7 (58-45)- 715" 10
(10f1+1j+[1+1x1) 1 1 . . B 87.35
5 5 8) 5 B B 5 57g" O " aas L, 200
1, {19 5 (19 _7ﬂ lie between 0.6 and 0.7 ' 5 10
1314 (e 3 41. (d) 87.35
1 1) ( 1) . . “E9 45:080
(+ +1x= (4+20f 4) — (8+8 of 16) 58.45+28.9
8 +[(9-5) +
25 5 > {( ) {+ (4x2:8 8735
1. [19 5} R 87.35
L4 6 =8+{4+{———+1}:| =1
=T 1.1 R SSC CPO Tier-I (2019)
5 5 23 {13/Dec/2019} All Shifts
1, 57—10} = 8*[4‘g} 46. (b) a =0.321, b =0.456, ¢ = —
3 12 i3 0.777
=1_+ﬂ=ﬂ=425 5 23 If a+b+c =0
3 12 12 P then a®+b3+c® — 3abc = 0
Lie between 4.2 and 4.4 - 5+b34cd = 3ab
SSC CPO Tier-I (2019) 4x16 ammbrres = sabce
{12/Dec/2019} All Shifts 23 (0.321)° +(0.456)° —(0.777)°
(3_2 ]_ il -8 3x0.3(0.107)(0.76)(0.777)
3 2) 4 4,4, 42.(d)./0.00576xy =2.4 a®+b®-c?
39. (c) 3 1 1 15 .
&L L square both side 0.3(0.321)(0.76)(0.777)
10 6 3 0.00576 x y = 5.76 Multiply & divide by 2
% % fé _ 5.76 2(-3abe)
17 Y= 500576 0.6(0.76)(0.321)(0.777)
9"37 6 576 100000 2(-3abe)
5 16 Y= 576 100 (0.456)(0.321)(0.777)
_ 65 o 2. 9%9 1000
2757 5T 2 ‘" 2(-3abe)
90 axbxc

IR\ G2gan Pratap Sir @ CHAéplnNPUBLICATIDN



47. (a)
5-2+4x[5-(3-4)]+5x4+20f 4
"4+4+80f2x(8-5)x2+3-8+20f 8

5—%><[6]+g

4+l><3><g—l
4 3 2

48. (d)

210l 1).01,52. 125541
37°276) 73773734

3l 4lorslisl,3 ——2—
5 729737737

(751]717517
iJ’_ iiiii

872 6) 33 3 4
- 16,9 16 16 3 8
5 23 3 4 3
(14+15—1j_7 17 85
_ 6 373 12
16 ,,,16. 3.3
5 3 48
28 3 17 12
6 7 3 85
- 2.3
15 2
oyt 8
_ 5 5
£+§ 4+45
15 2 30
_8 .30 48
T 549 ~ 49
_48 6 = 48-42 6
T 4977 77 49 49
49. (a)
(0.013)° +(0.007)(0.000049)

(0.007)2+0.013(0.013 -0.007)
(0.013)* +(0.007)?

(0.007) +(0.013 - 0.013x 0.007
a’ +b3 (a+b)
(a®+b%)(a+b)

(a+b)(a?+b?—ab)

(a®+Db%)(a+b)

a®+ b3
+b

3+0.007

a+
0.01
0.02

I\ Gagan Pratap Sir

4-3:2x(4-2)-3+4x3:2+4
- ) 3 ax (2= 4) x4+ 34013

4——x2—3+6+4
2

4—§><4+l
2 4

4-3+7
4—6+l
4

8
_2_1,_1
4

51. (a)

557125 25 55

(10 21_21_1}_(22_22}
9 20 38 3) |9 25
1.1 1 1

25 125 25 25

(550-5)(5)
9 10 3 9
5-1

16 25

9 9

4

16 16
25x4 100 016
0.16 lies between 0.15 & 0.2.
SSC CPO Tier-I (2020)

{23/11/2020} All Shifts

40—%of32 16

52. (c) = g=1

37 - %of(34—6)

1
53. (d)8-3+6 of 2 + (4+ 40f;) +8+

(4><8+—1-)><l
4 8

s> .26
= °7 1278

s +:li16
=°7437

32-1+2+64

Simplification
54. (d)
6.35 x 6.35 x 6.35 + 3.65 x 3.65 x 3.65
63.5x 63.5 +36.5 x 36.5 - 63.5 x 36.5
1 (6.35) +(3.65)°
= ﬁ{(assﬁ +(3.65)" —6.35% 3.65}
= a’+ b?=(a+ b)(@®+ b? - ab)

1
= oo (6.35+3.65)

= 70 (10) = 0.1

1 3 (3 1 3)

S22 x12

Kofls+ g™ 777
{3)
8

10
S 4
5,5 _35
85

55. (a)3§+2— of

:>24

NESS

3
56. (c)(5- + 3

Z 70

9 1
9%) E_(5+2 of 5)
(21 14) (4&_@ @) 11
217

4 3 98189

49 18 11 )
— X X = _—
=2 "7 =
57. (a)

0.325x0.325+0.175x.0175+25x0.00455 0.5

5x0.0065x3.25-7x0.175x0.025 1.5
(0.325+0.175)° 1
= (0.325-(0.175] 3
_ 032540175 1
~ 0.325-0.175 3
O30y L&

© 0.150 3 3
SSC CPO Tier-I (2020)
{24/11/2020} All Shifts
58. (a)
0.325x0.325+0.175x0.175+25x 0.0045
5x0.00655x 0.325—7 x0.175x 0.025
0.5
]
1.5
(0.325+0.175)° 1
= (0.325) -(0.175)° ©'3
a’-b? = (a+b) (a-b)
0.325+0.175 1
0.325+.0175 3
0.500 1 11

=0150 3 3
1 3 (3 1 3]
=L +— 1_
59. (b)2 22 of 1o+(g+7x13
_lei_w_ﬁ
" 34 8 24 24
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o (220 (o2 e

Ss1-72w02) 1L
9 8 20/ 21

ﬂ.[ﬁ_éj 1
:>5+ - 9 6 )(21

2

NECIRERE

49 18 11

=0Ty Y1 T
61. (c)

4.35x4.35x4.35+3.25x3.25%x3.25
43.5x43.5+32.5x32.5-43.5x32.5

1 (4.35)° +(3.25)°
=T X 2 D
100 = (4.35)" +(3.25)" - 4.35x3.25
1
= 100x«L35+&25)
1
= 100x(ﬁ6)=(1076

SSC CPO Tier-I (2020)
{25/11/2020} All Shifts

40 +§of32
4

62. (¢) 57 +%of(34—6)
_40+29 64
~ 37+21 58

32 .3

2212
29 29

1
63. (b)1-3+6 of 2 +(4+4 of Z)+8+

ax8 + = )x =
X3 + X
( 43

1
= 1—Z+478+16
_4-1+2+64

64. (c)
427 x 427 x 427 + 325 x 325 x 325

42.7x42.7+32.5x32.5-42.7x32.5

=mulitiply by 100 in numerator
and denomenator
(427)° +(325)°

=100 4277 + (325) - (427)(325)
= a’+b?® =(atb)(a?+b?-ab)
= 100[427+325]
= 75,200
(d)
2.8 44 1
3710 97579
= Use BODMAS operation

2 2 4 10 8 3.1

~ 3715 5 9 15 4 2

65.

8,31
5 4 2

I\ Gagan Pratap Sir

2 15 4 10 15 3

= 3% 550 % ta2
5
= 5—5*’5
29
~ 6
66. (d)7+[5+1+2-{4 +(4 of 2+4) + (55
of 2)}]

= Use BODMAS operations

<< SSC CPO 2022 M,h)>
67. (a)His positive marks = 4x5=20

His score = - 12
His negative marks = 20 + 12
= 32
2
. Wrong answers = 5" 16

68. (b) (56)55;2(55)8 =(5*)"

530 52 540

=
52

— 568 = (54)3
— (54)17 - (54)a

. a=17
69. (b)
\/36:150f20f[25><4:40f{29+3:;}SH
36 +150f 20f[25 x4 +{4x 30} |

36 +150f 22>
6

V36 +2 =§=1%

= 25 2 1 3
e T
6 5 5 8
%x8.8—12
-1 3
7+7
3 8

73.

74.

75.

76.

Simplification
3.2
17
24
3.2x24

17
32x24
10x17
384 44
_:>_

85 85

=

. (a)0.008 x 400 + 2000 of 0.04

= 0.008 x 400 + 80
= 0.008 x 4

= 0.04 = 25

. (d)[625+8+8 — {16 + (196+4)

- (324 = 18)}]

=[625 + 8 + 8 — {16+49-18}]

= [625 + 8 + 8 — 47]

= [625 + 1 - 47]

= 579

(a)456-301 + 20 E+—19

4 18 72x24

3 76 72x24
4 18 19

= 155 + 288

= 443

= 155+

.
“27

9

5
(c) 3 2,
7

=
4

3.
7
z.
5
4
5
- 2.1
2

5
2
3
2
5
2 5
3 1
2"
2

3

23 1_2
= 102

B 43
20 20

(c){8+1}+{30 X—}

=9+ 10

=19

&
4\a 20 8 3
(d)(s ) +{—15><6+—72><4 2}

-2

4
202
= “9

CHAéplnNPUBLICATIDN



(=14)(=6)

oo (1] g 79. ()

84 x9

=189

78. (d)1036324 - 1036323 + =
1027180 — 1027176 = 5

Alternatively:-
From unit digit =
4-3-6 (14, 24)
14-9=5
24-9=15

Bilingual

Complete

CLASSNOTES

Advance Maths )

Useful For

Gagan Pratap Sir

I\ Gagan Pratap Sir

24+ 30f16+| = 55}
8 4
4+75+15

4+E

2

4+5
1 13

—_X— = —

18

)

s
CHAMPIGN

b

Simplification
80. (c) 72+8[{(57-49) + 2} + {(85 - 60)
+ 5}~ {(28 - 19 + 3)}]
=72+8x[4+5-6]
(? & S® W - W)
=72+8x6
= 54
81. (b)(1801)2 = 3243601

CHA bid PIDN

Bilingual

CET, SSC, CGL, CPO, CHSL, CDS and Other Competitive Exams
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< < SURDS AND INDICES ( 9rdiesk 3T h{uit) >

Surds and Indices

SSC CGL Tier-I (2021) SSC CPO Tier-I (2018) 9. 9 x [©-4)]+{8 +8of4)+
{20/04/2022} All Shifts {15/03/2019} All Shifts 2)
The cube root of 3375 equal to: (4+40f2);="?
1. If = 17.32, then th q
593 +75 e e 3375 % =A% e (a) 20 (b) 60
value of 14,/3 + 1108 is (a) 35 (b) 25 15 15
AR 53 + 75 = 17.32 %, @ (c) 55 (d) 15 (©) % (d) %
1443 + 108 1 ¥ 1 | <( SSC CPO 2019Tie“',-;{>> 10. The value of 1142418 is
(a) 32.46 (b) 35.64 X closest to:
SSC CPO Tier-1I (2019)
(c) 34.64 (d) 33.86 {09/Dec/2019} All Shifts J11+2/18 1 WA formes e 2
< < SSC CPO 2018 _ £>> Which one among the following (a) 4.8 (b) 4.4
! is the smallest? (© 3' 3 d 41
SSC CPO Tier-I (2018) frreferfan & & S & den v B 82 SSC CPO Tier-I (2019)
AZRR 2R sl (8) V401 - /399 {12/Dec/2019} All Shifts
2. The square root of which of the
following is a rational number? (b) V101 -+/99 11. The value of 6_m is
e 3 i S (c) V301 -+/299 closest is:
(@) 6250.49  (b) 1250.49 (d) V201 -+199 6-17-2J72 %1 w7 fHE®
(c) 5768.28  (d) 1354.24 ) frepe &7
SSC CPO Tier-I (2018) The value of ——= is closest tor
{13/03/2019} All Shifts CYAHEOT 7 - 4yf3 I :3) o1 g 7
3. The square root of which of the 1 ’ ’
following is a rational number? _— 3 o fpedn 9
et A S g S 7—afs T
e 7?2 (@) 4.1 (b) 4.2
(2) 2361.96 (b) 2758.28 (c) 1.2 (d) 3.7
(c) 72568.4  (d) 62504.9 SSC CPO Tier-I (2019)
SSC CPO Tier-I (2018) {11/Dec/2019} All Shifts
{14/03/2019} All Shifts J0.6912 +/0.5292 i
4. 41144 is equal to: J0.6912 -4/0.5292
V4 +144 foms auer 8 (&) 1.5 (b) 0.9
(c) 15 (d) 9
() 4 (b) 12.17
(c) 3.74 (d) 14
ANSWER KEY - SURDS AND INDICES
1. (¢ 2. (d 3. (& 4. (@ 5. (d 6 @ 7 (d) 8 (© 9 (b) 10. (b)
11. (a)
IR\ G2gan Pratap Sir @ CHAéplnNPUBLICATIDN



Surds and Indices

< =¥

Hints & Solutions (CGL)

W >
&

SSC CGL Tier-I (2021)
{20/04/2022} All Shifts

1. (c) 53 +53=17.32 6.
1043 =17.32
J3=1.732
= 144/3 +4/108 7.
=143 643 =203
= 20%1.732
= 34.64

SSC CPO Tier-I (2018)
{12/03/2019} All Shifts
2. (d) 36.8
3[1324.24
9
66[454
396

128 5824
5824

X
Only 1354.24 is the square of 8.

36.8 and 36.8 is also written as

368

thmh is rational number.

SSC CPO Tier-I (2018)
{13/03/2019} All Shifts
3. (a)Only 2361.96 is the square
root of 48.6
Alternatively:- .
In option (c) and (d) after decimal
only one digit so they can't be
square.
In option (b) unit digit is '8'and
'8' is not the unit digit of any
square so, only option (a) left
which is correct.
SSC CPO Tier-I (2018)
{14/03/2019} All Shifts

4. (a) 41144

4+12 10.

=16
=4

SSC CPO Tier-I (2018)
{15/03/2019} All Shifts

5. (d)5(3375
50675
5135
327
39
33
1

3/3375 = 15

I\ Gagan Pratap Sir

SSC CPO Tier-I (2019)
{09/Dec/2019} All Shifts
(a) Largest value in root will be
smallest when difference is same

/401 - /399 is smallest

(d) 1 ~ 1
J7-43 -3y

_1_,2+¥3

2-43 2+43

2+J—

=2+1.732=3.732

ssc CPO Tier-I (2019)
{11/Dec/2019} All Shifts

J0.6912 ++0.5292
) J0.6912 - J0.5292

\J0.6912 = 0.831~0.83
J0.5292 = 0.727~0.73

0.83+0.73 1.56
0.83-0.73 0.1

15.6~15
(B)9 x [9-4) +{(8+8of4) + (4

+ }
2

o
el

4
=9><5><§=20><3=60

=15.6

-bli—‘

-Moo

(b)= \11+2J18
= J11+2x3x+/2
(3+\/§)2

= 3+\/§

=3+ 1.414
- 4.414

SSC CPO Tier-I (2019)
{12/Dec/2019} All Shifts

11. (@) J6_.17-2y72

AT\

2x+/9 x+/8

72+

1.414 + 1 = 2.414

CHAéplnNPUBLICATIDN



LCM & HCF

<®<LCM&HCF(WmmﬁEaﬁTwmﬁﬁm)>

<( SSC CPO 2018 ,ﬁ>>

SSC CPO Tier-I (2018)
{12/03/2019} All Shifts
Two numbers are in the ratio 4 :
7. If their HCF is 26, then the
sum of these two numbers will
be:
T HEAT 4 : 7 % A | €| AE SR
HCF 26 21 @ & < "emsti &1 am
Z:
(a) 286 (b) 338
(c) 312 (d) 364

SSC CPO Tier-I (2018)
{13/03/2019} All Shifts
Two numbers are in the ratio 5 :
11. If their HCF is 24, then the
sum of two these numbers is:
Y Eed 5: 11 & ogua ¥ ¥ A
31 HCF 24 ®, d 31 < wemst =1
= B
(a) 384 (b) 408
(c) 120 (d) 264

SSC CPO Tier-I (2018)
{14/03/2019} All Shifts
The HCF and LCM of two
numbers is 6 and 5040
respectively. If one of the
numbers is 210, then the other
number is:
3 et #1 HCF @ik LCM %H91: 6
3R 5040 2, afs Hemsi 4 9 & 210

?, @ gud wew v
(a) 30 (b) 144
(c) 630 (d) 256

SSC CPO Tier-I (2018)
{15/03/2019} All Shifts
The product of two numbers is
45360; if the HCF of the numbers
is 36, then their LCM is:
T deAs w PEARA 45360 T AR
Temsit %1 HCF 36 ¥, d 37 LCM &:
(a) 252 (b) 630
(c) 126 (d) 1260
The greatest number of four
digits which is exactly divisible
by 24, 36 and 54 is:
TR SR Hi T I T | 24, 36
AR 54 9 faeha fawsa 2:

(2) 9990 (b) 9924
(c) 9936 (d) 9960
I\ Gagan Pratap Sir

6.

10.

Four bells ring simultaneously
at a certain instant. There after
they ring at intervals of 6, 8, 10
and 12 seconds respectively. In
how many minutes will they ring
together again for the first time?
R sfedt ww ffvad ¥ W T @y
T B THP 9% A FHHA: 6, 8, 10 3K
12 The & FAA R 9 | TEel SR

g foraa fael ¥ we T R 9 oei?
(a) 2 min (b) 2% min

. 1
(c) 1 min (d) 15 min

SSC CPO Tier-I (2018)
{16/03/2019} All Shifts
The product of HCF and LCM of
two numbers is 3321. If one of
the numbers is 369, the HCF of
the number is:
g Weme & HCF @R LCM &1 oF%e
3321 ?I 4fg gemshi #§ ¥ uh 369 ¥,
@ westi 1 HCF:
(@3 (b) 21
(c) 9 (d) 27
An oil merchant has 3 varieties
of oil of volumes 432, 594 and
702 litres respectively. The
number of cans of equal size that
would be required to fill the oil
separately is:
Teh dcd AR & U A 432, 594
3R 702 ot & 9 #1 3 fmed € 9|
F AT W TH & foaw sAavas g9

SR & fesd ) gem 2
(a) 16, 15, 17 (b) 8, 11, 13
(€) 8, 13,15 (d)6,9, 11

The LCM of two numbers is 168
and their HCF is 12. If the
difference between the numbers
is 60. What is the sum of the
numbers?

T Hemat #1 LCM 168 € 3R St
HCF 12 21 af gemsti 1 3@ 60 2
HE w1 A o e?

(a) 122 (b) 164

(c) 112 (d) 108

The product of two numbers is
6760 and their HCF is 13. How
many such pair of numbers can
be formed?

T FEAsH 1 PHRA 6760 § AR IAHT
HCF 13 % W@ fohad 974 59 Tohd ©?2
(@1 (b) 2

(c) 3 (d) 4

O

<( SSC CPO 2019 Tieﬂif»

11.

12.

13.

14.

SSC CPO Tier-I (2019)
{09/Dec/2019} All Shifts

What is the HCF figi?
at 1s (& (0) 5’8’25

4 6 8
5’8’55 ¥ A (HCF) I SIS

1
(b) 750

1
@5 100

1 1

© 200 @ 3o

SSC CPO Tier-I (2019)
{11/Dec/2019} All Shifts
If r is the remainder when each
of 4749, 5601 and 7092 is
divided by the greatest possible
number d(>1), then the value of
(d + r) will be:
Ik 4749, 5601 3R 7092 ¥ ¥ Jeiw
* ISt 9 a1 darfea @@ d (> 1) |
faemferd foran S 2, A 9o 9IRS
ro=al €, @ (d + r) 1 AE A i)
(a) 276 (b) 271
(c) 298 (d) 282
In finding the HCF of two
numbers by division method, the
quotients are 1, 8 and 2
respectively, and the last divisor
is 105. What is the sum of the
numbers?
faarem fafy g < wemstt @1 AW
(HCF) 91d &3 W 9FT%a %9l 1, 8
3R 2 T B €, SR i W 105
B S FEmE % A T 22
(a) 3570 (b) 3885
(c) 3780 (d) 3675

SSC CPO Tier-I (2019)
{12/Dec/2019} All Shifts
What is the sum of the greatest
three digit number and the
smallest four digit number such
that their HCF is 23?
9 fehl 1 SH @Sl W aE HEa 3
TR SRl &I W B W DRI F&A B
k1 1 AW 1 8, f5R 2.9, (HCF)

23?7
(a) 2002 (b) 1998
(c) 2001 (d) 1984

CHAéplnNPUBLICATIDN



15.

16.

17.

18.

The HCF and LCM of two
numbers are 8 and 48
respectively. If the ratio of the
two numbers is 2:3, then the
larger of the two numbers is:
3 "emet % 6d (HCF) iR @4
(LCM) %w91: 8 3IR 48 | 4 31 genst
U 2 : 3%, A < weme § u
I wE A o 82
(@) 18 (b) 48
(c) 16 (d) 24

SSC CPO Tier-I (2019)
{13/Dec/2019} All Shifts
The LCM of 165,176,385 and
495 is k. When k is divided by
the HCF of the numbers, the
quotient is p. What is the value
of p?
165, 176, 385 3R 495 # @ W.
(LCM) k B1 59 k =i gemet = 4.4
(HCF) gr fawfsa fren smar €, @
IATh p U &1 €1 p HI GF SRy
(a) 2520 (b) 5040
(c) 6720 (d) 3360
If r is the remainder when each
of 6454,7306 and 8797 is
divided by the greatest number
d(d>1), then (d - r) is equal to:
I r 97 IS T, S 6454, 7306
AR 8797 i st W d (d > 1) @
fafer 6 W 9w e €, @ (d - 1)

ST AM A SIS
(@) 126 (b) 64
(c) 137 (d) 149

The sum of two numbers is 1215
and their HCF is 81. If the
numbers lie between 500 and
700, then the sum of the
reciprocals of the numbers is __.
T HEet i AThe 1215 ® 91 S
749 (HCF) 81 21 afg W& 500 31k
700 % wt= # ¥, i Gems & ohat

Ealeini B
5

@ 702 ®) 7512
5

© 378 (d) 1788

SSC CPO 2020 ,;{>>

19.

SSC CPO Tier-I (2020)
{23/11/2020} All Shifts
Two numbers are in the ratio 7 :
11. If their HCF is 28 then the
difference between the two
numbers is:
T Hems & w7 : 11 ?1 AR
IR HEwH Hvedsh (HCF) 28 &, @

I\ Gagan Pratap Sir

20.

21.

22.

23.

24.

A Hest & o9 TR A H
(a) 28 (b) 196
() 112 (d) 308
The ratio of two numbers is 7:
13 and their HCF is 8. Their LCM
is:
T gemell w egud 7 : 13 ® @R
STk BT, (HCF) 8 81 S w41,
(LCM) Fm@ &
() 782 (b) 628
(c) 872 (d) 728

SSC CPO Tier-I (2020)
{24/11/2020} All Shifts
The HCF of two numbers is 29.
and the other two factors of their
LCM are 15 and 13. The larger
of the two numbers is:
T "emst &1 HCF (W.4.4.) 29 8, 3R
3% LCM @84 & 3 I UHES
15 @R 13 € 39 © gemet # w<

T I BRI
(@) 435 (b) 377
(c) 406 (d) 464

SSC CPO Tier-I (2020)
{25/11/2020} All Shifts
Two numbers are in the ratio 7 :
11. If their HCF is 28. then the
sum of the two numbers is:
T wemst w1 UM 7 : 11?1 9k
3! HewH @HIads (HCF) 28 €, <Al

TS T AN A B
(a) 196 (b) 504
(c) 112 (d) 308

Five bells ring together at the
intervals of 3, 5, 8, 9 and 10
seconds. All the bells ring simul-
taneously at the same time. They
will again ring simultaneously
after:

9= sfedt 3, 5, 8, 9 3 10 Uhs &
AU W TH @Y a2 |9l st
TS GH W TF Y a5dt 21 A fohdd

g & A% YA Tk o a7
(a) 9 fATe (b) 8 fiTe
(c) 4 fe (d) 6 fe

The HCF of two numbers is 29.
and the other two factors of their
LCM are 15 and 13. The smaller

of the two numbers

T Wemsd w1 HE . (HCF) 29 €, 3k
3T A8 (LCM) & 39 q PHES
15 3R 13 1 =9 Q@ "emed d s

T Jd
(@) 377 (b) 435
(c) 464 (d) 406

LCM & HCF

<< SSC CPO 2022 T£~>>

25.

26.

27.

28.

29.

30.

31.

The HCF of two numbers 960
and 1020 is:

T gemsi 960 3R 1020 1 HewH
THeds (HCF) @1 82

(a) 40 (b) 12

(c) 60 (d) 80

The LCM of x and y is 441 and
their HCF is 7. If x = 49 then
find y.

x 3R y 1 I FEGEE 441 7 R
3] HewH FHEdS 7 81 A x = 49

®, @ y @ iy
(a) 56 (b) 36
() 65 (d) 63

The sum of two numbers is 1224
and their HCF is 68. The number
of pairs of numbers satisfying
the above condition is:

T wEmst w1 AT 124 § AR ST
49 (HCF) 68 31 "emsii & %o

foren 7 sl feefa 1 dqe @ 872
(@) 3 (b) 4
(c) 6 (d) 2

The least common multiple of a
and b is 42. The LCM of 5a and
11bis :

a ¥R b 1 T gHTEE 42 Bl 5a
R 11b 1 @9 gH9ad (LCM)
1 22

(a) 2310 (b) 4630

(c) 210 (d) 462

The ratio of two numbers is
5 : 7 and their HCF is 3. Their
LCM is:

T Hemat # FAE 5 : 7§ AR A
Hed GHES 3 €| STeh1 oIHH FHTE

M it
(@) 75 (b) 105
(c) 125 (d) 35

37 13 .
The HCF of Z’g and ﬁ is:
37 13
Z,g 3R 14 1 HETH GHIe 1 87
(a)1/36 (b) 1/56
() 1/70 (d) 1/60

If the LCM of two numbers a and
b is 60 and their HCF is 15.

Determine their mean
proportion.

I <t HEmet a 3R b 1 AHLEH GHTEE
60 ? 3R Sk HewH WHTe 15 B,
T IR WA TG TS|

(a) 30 (b) 25

(c) 60 (d) 4

CHAéplnNPUBLICATIDN



35.

36.

The least common multiple of 48
and 64 is times the highest
common factor of 12 and 18.

48 3R 64 o1 TEEH FHEEE, 12 3R

18 & HeTH YA hl T
2

(@) 28 (b) 32

(c) 24 (d) 16

Let x = 224 and y = 322. If the
greatest common factor of 23x
and a x yis divisible by x and y,
then what can be the possible
value of a?

M AT x = 224 IR y = 3221 9
23x ¥R a x y & Ieaaq 39g frs
THEE x 3R y ¥ faama ®, @ a
Tfad A 0 & TehaT 2

()4 (b) 12

(c) 8 (d) 16

37.

38.

39.

ANSWER KEY - LCM & HCF

) 11 16
32. Find the HCF of 55°20°15 and
10
g o
11 9 16 10
%’%’E g Sl HY.Y. A
Fife)
(a) 1/3300 (b) 1/330
() 1/33 (d) 1/300
33. The highest common factor of
108, 72 and 5a is a. What can
be the least common multiple of
108, 72 and a?
108, 72 ¥R 5a % I==Iqd HE=
TUFEE a ®. 108, 72 3R a % aHuH
guveed I el ehal 87
(a) 432 (b) 324
(c) 108 (d)216
34. Find the HCF of 364 and 724.
364 3R 724 1 WETH GHIH 1
Hifsu)
(@4 (b) 2
(c) 6 (d) 364
1. (& 2. (& 3. (b 4.
11. (b) 12. (a) 13. (o)
21. (&) 22. (b) 23. (d)
31. (&) 32. (a) 33. (d)
I\ Gagan Pratap Sir

34.

14.
24.

()
()

d 5 () 6. (@ 7.
15. (d) 16. (b) 17.
25. (c) 26. (d) 27.
35. (b) 36. (d) 37.

()

O

()
(d)
(2)
(b)

LCM & HCF
The LCM and ratio of three
numbers are 1386and 3:7:11
respectively. Find the sum of the

largest and smallest numbers.

= st &1 wgad wHed (LCM)
AR @A %9 1386 AR 3:7: 11
Bl T8 9l SN wed B wemst @6l

AN T BT
(a) 108 (b) 84
(c) 64 (d) 60

What is the LCM of a%b — ab?,
a’b? — a?b®, ab(a — b)?

(a) a?b? (a2 + b?)

(b) a?b? (a2 — b?)

(c) a?b® (a2 + b?)

(d) a®b? (a2 — b?)

Find the LCM of 28 and 92.

28 3R 92 1 oFTH THIGE M
Hifeg|

(a) 464 (b) 644

(c) 161 (d) 322

8 (b) 9. (d) 10. (b)
18. (b) 19. (¢) 20. (d)
28. (@) 29. (b) 30. (b)
38. (b) 39. (b)

CHA&PIQNPUBLICATIDN
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